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Leveied Practice In 11-16 solve each equatlon
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1. : y—12 89 e L 120 80hrod0 13. 60-x-16 [
y—12+[ J _ 89112 80+r—-[ 1#160—{_ ] 60+[J=k—16+[ ]
s y:(”_; \] , _ | r=[_ J L _[f“lzx .

14. 20=y+12 15. x+2=19 16. z-313=176

17. You have some tradlng cards You give 21 cards to a friend Cards in the original deck
and have 9 left for yourself. How many cards were in your oy -
‘original deck? Write and solve an equation to find t, the d L
number of cards in your or:glnai deck. ) oy

) Cards given Cards

to a friend left

—g.—.~;mnpa;._-131:v:ag-‘.,ns.z’.-.-;;n.-,v ......
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18. Model with Math Joy added 26 new contacts = 19. Reasoning Jeremy bought a sandwich and a

to her phone list. She now has a total of drink that cost him $7. His drink cost $1.75_. Solve
100 contacts. Let ¢ represent how many contacts the equation 7 = s + 1.75 to find s, the cost of
Joy had on her phone list before she updated it. . Jeremy's sandwich. ®wmpr2

Write an equation and solve for c. @ wmpa4
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: "_175720 A trlathion IS about 51 kllometers One participant completed  Total distance of race S
two of the three legs of the race and traveled 42 kilometers. - ) :
Solve the equation 42+ d = 51 for the dtstance d, of the - = P R

thlrd leg of the race. d
' _Dlstance of two Distance

Iegs ofrace - of
; ' third leg

aeu.a»ss.n'eenq.aoaoau.s=.sana..!x@;u:«g;o:

21. What operation should be used to solve the
equation 153 = g +45? Solve the equation.

22. Higher Order Thmkmg In the equation
6 + 3y = 4y + 2 the variable y represents the
same value. Is y =2, 3,4, or 5 the solutlon of this

equation? Explain.

1!t0¢-s'¢n ‘z-a:té"—;-,-'-';-zqvt-:e.aya".::chcbf—ia:uﬁ:t

23. A traffic helicopter descends to hover 477 meters above
the ground. Let h be the original height of the helicopter.
What is a subtraction equation that represents the problem?

elr-agyﬂv_

What was the original height of the hellcopter’?

Ak B e 8B e 8 650 & ® N WD W s & an e R a'e s FRrErae

24. The drama club sold all the tlckets for its
annual production in three days. The club sold
143 tickets the first day and 295 tickets the
second day. If the drama club sold 826 tickets,
how many tickets were sold on the third day of
sales? Solve the equation . 438 + t =826 for the

number of tlckets 1 sold on the third day of
: tlcket sales..

E

26. Select all the equations that have g 6 as
the solution.

() g+2=10
Og-1=10
(Jg-2=4

() 58 +g=60
(J44a-g=38

LA e edunabkian Erniatinne

25.1Ina bag of m1xed nuts there are 35 almonds,
34 hazelnuts, 32 walnuts, and p pistachios.
The bag has a total of 134 nuts. Find the total
number of almonds, hazelnuts, and walnuts.
Then write and solve an equation to find the
number of pistachios in the bag.

27. Select all the equations that have x =4 as
the solution.

() 42=38+x
() x+15=19
() 18=x-2
() 36=x+32
() 52-x=46

=1 Goonline | PearsonRealize.com




equatlons

You can use mverse reIatlonshrps and the propertles of equallty to solve

' KEY
CoNCEPT

5+‘ c= 15 ._ _' RESEREIR SR T m .20= 16 .“m__%'@d_ o
5+c# ; f SubtractSfromJ m- 20+20—16+20 jAdd 20 to }
G ™ eachside. |
Do Y’ou Understand‘? Do You Know Hovv'?
1. Y In 5 10 solve each equatlon.

solve an addrtron or. subtractlon equatlon"

of addltron and subtractlon to solve the
equatlon n + 7 25 :

3. Model with Math Clare had t books. After she

bought 8 more books, she had 24 books. \Write
and solve an ‘equation to flnd the number of
books Clare started W|th ® MP4

4. Model with Math The outside temperature
dropped 20°F from the time Arianna ate
breakfast until the time she ate dinner. When .

- she ate dinner the temperature was 35°F. Write
and solve an equation to find the outside

temperature t when Arranna ate breakfast. .MP4 5

SEg s A arratis mad Calia Additian and Sihtraction Eauations |’?| ‘Go Online” | PearsonRealize.com

2 Explaln how you can use the mverse relatlonshrp e 12=y—11

5.24+m=49

7.22=13+a

8.t—40=3

9. d+11 15

10.32=5—19




‘ou can multiply or divide both sides of an equation by the same number
ind it will remain balanced.

54

m
9 —

54

AT

+m=9 or 9m=>54

| Divide each

om+9=54+9 1 side by 9.

m=6

B o e e S T B AR P IO T IS AR S R

Do You Understand?

1.4

2

(4 How can you write and
solve a multiplication or division equation?

. Which property of equality would you use

to solve the equation 8n =167

. Which property of equality would you use

4.

to solve the equation a + 9 =27

There are 30 students in the drama club. They
are carpooling in 5 vans to perform a play. They
want each van to carry an equal number of
students. Let s be the number of students in each
van. Write and solve a multiplication equation to
find the number of students in each van.

1}
b
[}
%
:
R
460
“ 1
P ‘.
|
1 1 1 1 1 1 1 1 1 \ i
TR SO |
p+8=17 _ :
; _ Multiply each | |
-8x8=7X8 .
P | side by 8. :
S O :
|
,,,,,,,,, _‘_'-_'_'T:’,",'F:'.7'?—?'!‘:7:3’:‘?'12?,7?.’5:;‘7&15Th-_y.,—g,.s;_w;:u- RSN L¥Y DUR IR I:m"{m
Do You Know How?
In 5-8, explain how to solve each equation.
5. 18m =36 6. t=3=10
7.12=2y 8.22=a~5
D)

In 9-12, solve each equation.

9. 23d=2,392

10. 74f=6,179

1. y+ 11 =987

2. r+187=9

el A
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In 13-16, explain how to get the variable alone in each equa_tlon;.
13. 8y =56 : 14. t+ 15=3 15. u+8=12 16. 31y =310

evueTQsoaa.li@lu.-ll-s-}ﬁnt:‘yu':?“.:rqﬂ“!,?v‘zv“?bu-ﬁss\.rnun;,‘.-‘-;u;;v\n<=;;..:—“-,;;;!\.,—.,‘;. ,,,,,,,,,,,,

In 17-20, solve each equatlon

17.d-2=108 = . . 18 7200 800s 19, x+3=29 . 20,99 =3x

:-cboffﬂE&H?l°==ﬂ'ﬂﬂ'iﬂlil\r*lnh!d?i:5'1=!;OL'JI‘"-:E:)Gd:xi:»ts2—)1“4-;7)!Ghs.=’-u;mil:?._r.':1)1y.;q;.;:Ln

In 21 and 22, write a division equation and a multlpllcatlon equation
to represent each problem - ; ,

21. Lolo typed 1,125 Words in 15 minutes. Let w 22, In ‘12 weeks Fellpe earns $4 500 domg yard work

represent the number of words typed each minute. He earns the same amount each week. Let m
If Lolo typed the same number of words each stand for the amount earned each week. How
minute, how many words did she type in 1 minute? much does Felipé make in 1 week?
23. Model with Math Abel has 3,330 toothplcks He wants i 13,330 toothpicks
to use them aII to make a floor mat with 18 equal rows. s :
Use the bar dlagram to write a division equation. Then ¢ 18 3
solve the equation to find how many toothpicks Abel
should use in each row. @ mpr4 : T

Number of rows

1

aaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaaa

24, Model with Math Emily took an alrplane trlp Her pFane

~ flew an equal number of miles each hour. Let m stand for
the miles flown each hour. Write an equation to represent
one way you can find how many miles Emily’s plane flew
each hour. @ mp4
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. _;D eiYou Understand?
1. ’ Lseentnl Quesimn What does it mean

for one varlable to be dependent on another
i varlable'? e g -

Jake and Viola record
the number of miles,
m, they bike to help
track the number of |
| calories, ¢, they burn :
“inan hour. ' :

Critique Reasoning Viola says the number of
calories, ¢, they burn is the dependent variable.  °
Do you agree? Explain. @wmp3 i

3. Reasoning In the biking problem above,
identify at least one other independent variable
that could affect the dependent variable. @ MP2

Do You Know How’r"

In 4-11, |dent|fy the mdependent varlable and the
dependent variable.

4. The amount of money, m, earned if t raffle
tickets are sold L ‘

5. The number of hours h, worked and the amount
of money, m, eamed '

. The number of shelves, s, in a bookcase and the
: number of books, b, the bookcase can hold

7. The number of pages, p, you read in y_eur book
~in h hours :

8. The number of gallons, g, of water a garden
hose produces after running for m minutes

9. The number of peaches, y, a farmer harvests in
x bushels

10. The number of hours, h, you spend drnnng ata
speed of r miles per hour

11. Name at least two mdependent variables that
could result in a change in a monthly electric bill.

~—n A a8 11edactand Ranandant and Indanandent Variables |‘-’-‘*| Go Online | PearsonRealize.com
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Name:

Practice & Problem Solving @ @

In 12—15 ldentify the mdependent variable and the dependent varlable

Scan for (@B
Multimedia '

13. The number of hamburgers h, sold and the
dollar amount of sales s, taken in

12. The pages, p, ina book and the welght w, of
the book_

14. The pounds, p, of flour you buy and the number

: _ 15. The temperature t, of water and the number
of bread loaves, b, you want to make

of mmutes m, the water is in the freezer

L S S e P

17. Name at least two |ndependent variables that
could resultin a change in the price of a basket

16. Write your own situation. Identn‘y the
independent and dependent variables.

of apples.

18. Critique Reasoning You spend c dollars for 19. The number of orangesin a bag and the cost/ i
p identical pairs of pants. A friend claims that of the bag of oranges are related. What is
because c increases if you increase p, and p : the independent varlable in this relationship?
increases if you increase ¢, either cor p could be - Explain. e

the independent variable. Is your friend right or
wrong? Explain. @Mpa

2" sire 0g 8 8e b g e
stelh Rl

20. The dependent Varlable g represents the growth of a plant
What variables can represent independent variables in
this situation?

Go Online | PearsenReaIize.cdm _ o 4-8 Understand Dependent and Independent Variables 2




In 21 and 22, use the table at the right.

21. The table shows distances driven by the Williams family each day of their
vacation. What is an independent variable that would affect the total

distance they drove each day?

[ 480 mi

2 260 mi

, 3 40 mi
22. Name at least two dependent variables that could affect the amountof | ;1 """""""" ’ 15""6‘;,“”
money the Williams family spends on meals during their vacation. B s

5 100 mi

6 320 mi

3. The cost of a salad at a restaurant depends on
many factors. List at least two independent
variables that could affect the cost of a salad.

25. The number of incorrect answers and the
score on a math test are related. What is the
dependent variable in this relationship? Explain.

27. Jonas is concerned about the amount of water he
uses to wash his laundry. He made a table to show
the number of gallons of water used by different
washing machines to complete a load of laundry.

PART A

Name two independent variables that could
affect the amount of water Jonas uses to
do laundry.

232  4-8 Understand Dependent and Independent Variables

24, Julian drove from New York to Florida. List at
least two independent variables that could affect
the number of days Julian took to make the trip.

26. Higher Order Thinking Write a situation
in which time, t, is an independent variable.
Then write a situation in which time, ¢, is a
dependent variable.

8

. Older Top Loading i 40

_i. S i TS S ——— ...—Q.,.,E < aine PP —— - ._._,.é

. New Standard Model | 27

Energy Efficient 14 ;’
PART B

Identify the dependent variable and the
independent variable in this sentence.

Jonas records the total cost, ¢, of the water he uses
and the number of gallons of water, g, he uses.

GoOnline | PearsonRealize.com
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/ CONCEPT

You can use patterns in a table to
the independent and dependent variables.

| The dependent variable m -
1 is 3 times the independent
| variablej; m=3j.

DoYou Understand? | Do You Know How?

(M Ecsential uestion- Howcanyouuse * 5. The table shows Brenda’s age, b, when Talia’s
a pattern to write and solve an equation? age, t, is 7, 9, and 10. Find the pattern and then

write a rule and an equation that represents the
pattern. Then find Brenda’s age when Talia is 12.

2. Make Sense and Persevere How do you finda - ~9 o nd
pattern that relates the values in a table? @we1 ¢ 210 5
' {2 b

3. Reasoning In Example 2, what happens to the.
value of the dependent variable, a, the amount

still owed, when the value of the independent 8 =%
variable, w, the number of weeks Ethan pays $5, : “_WMM{

[

is increased by 17 @Mr2
S e

6. Use the equation y = 2x— 7 to complete
the table. : '

4. Look for Relationships Use the patterninthe - .
table below to write an equation. @we7 © 7. State the rule for the pattern in words.

Foile )
1020112
3l
ne

i D
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‘P:ractlce & Problem Solvmg '- @“@ '

In 8 and 9 wrlte a rule and an equatlon that represents the L
pattern '", each table :

3435|3637 j

:a:ut‘.-ua-.';-'uanxa—'é-a-e'a-ga-s-gsa:;gessea'_a'ae'z;.p'u‘paxe_-"as'aqaaazc

In 10 and 11, write a rule and an equatlon that represents the
pattern in each table Then complete the table S

' 3742 - 18 ' 27 | 36 |
2 1 el U .
12 To celebrate its 125th anmversary, a company produced 125 - Cost of“125 KaratTeddyBears” o

~expensive teddy bears. These “125 Karat Teddy Bears"” are made

~ of gold thread and have diamonds for eyes. The table shows the
approximate cost of different numbers of these bears. Write an’
equation that can be used to find c, the cost of n bears.

4 |$188,000 |
7 | $329,000
217090

13. Andrea attends the county fair. The
fair charges for admission and for
each ride.

9 4.3 0% a Eim N 0.8 6 8 ¢

a. Use the pattern in the table to
the find the cost for Andrea Pt
to ride 5 rides or 8 rides. Then . :
write an equation for the pattern. |

b. Find the cost, c, for 12 rides.

(=] cooniine | PearsonRealize.com ~© 4.9 UsePatternsto Write and Solve Equations 237



In 14 and 15, write an equation that best describes the pattern in
each table.

14'_“?_,4!6,18110‘-1| ﬂ01%11i1%|2 z%i
- pannn - Apnnnn
lrli 16-1 9, use the eqﬁation to cc;r;u.JI‘elt'e eé;:h AN - SRR
16. t=5d+5
ﬂo|1 2{773‘7_4‘1 14161@10_@
; PTAAE i p ’
g 00 |+ 00)

20. Higher Order Thinking Maya wrote the equation h=d+ 22 to represent n 3 | 5 1 7 . 9 |
the relationship shown in the table. Is this equation correct? Explain. u M | | I
54 |

21. The table below shows the total cost, ¢, for the number .
of movie tickets purchased, t. Write an equation that 1 ' ‘
can be used to find the cast, ¢, of 5 movie tickets. E
Use the equation and complete the table to find the
cost of 5 tickets.

Number of ‘ % |
Tickets, t 3 5 2 1 i g
l

$26.25 | |

| 96125 | $78.75

228 4.0 |l Patterns to Write and Solve Eguations Go Online | PearsonRealize.com




